Bronze

Number

10

g

1a. Match the number to its multiple.

Multiple

24

15

&0

©r

2a. Trve or false?

28 is a multiple of 5.

1b. Greg is thinking of a number.

My numberis a
multiple of 3. It is even
and between 20 and
= 30.

PEN

fa

What could his number be?

Is there only one answer?

157

T

10

12

3a. Complete the sequence of multiples.

16

2b. Below is a section of a hundred

square.
—~
QS_/’ 16 17 18
~

-
I,\2_5 ) 26 | 27 | 28

~
@j 36 | 37 | 38

Why are some of the numbers shaded?
Why do some of the number: have circles
around them?

¢

4a. Fill in the table below with two
possible multiples for each number.

Number

Multiples

3

2

10

3b. Which is the odd one out?

30
— | pr—
15 35
— R —
25
p . N r p—
40 R 54
460
M—

Explain how you know.
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Silver

Number

&

Multiple

5a. Match the number to itz multiple.

27

3é

32

&a. True or false?

4b. Alex is thinking of a number.

My numberis a
multiple of 11 and 2. It
is even and between
- 20 and 50.

What could his number be?

Is there only one answer?

Sb. Below is a section of a hundred
square,

81 is a muliiple of 8.

42

56

7a. Complete the sequence of multiples.

62 | 63 | &4
@ 73 | 74
2
82 | 83 (84
()

63

Why are some of the number: shaded?
Why do some of the numbers have circles
around them?

8a. Fill in the table below with two
possible multiples for each number.

Number

Multiples

7

¥

12

&b. Which is the odd one out?

—
64
M R
12 16
| — ) —
32
)
40 R 58
— 72 —
—_—

Explain how you know.




Gold

Fa. Match the number to its multiple.

Number Multiple
& 78
8 F8
7 104

104a. True or false?

156 is a multiple of
12.

7b. Monty is thinking of a number.

My numberis a
multiple of 11 and 7. It
i even and between

130 and 140.

What could his number be?

Is there only one answer?

70 108 135

11a. Complete the sequence of multiples.

Bb. Below iz a section of a hundred

square.
97 78

116 | 117 | 118

106 | 107

Why are some of the numbers shaded?
Why do some of the numbers have circles
around them?

12a. Fill in the table below.

Number x13 x 14

12

7b. Which iz the odd one out?

o
98
S A J 9
63 77
— — —
21
84 R 70
92
Sm—

Explain how you know.




Challenge

1. Look at the number: below.

3) (4 [s]

Which numbers in the grid below are multiples of all the numbers above?

Investigate how your answer might change if 5 was swapped with 4, 7, 8 or 7.

2. Harriet has these digit cards:

2 3 41 [5] [6 7 8

Harriet also has the list of numbers below and their lowest common multiples (LCM).
She need: to add a digit card to each list so0 that the lowest common multiples remain
vnchanged. Investigate which digit cards she could use.

- - H
5 3 4 Q LCM =] 60
.
S
6l i |7 ] LCM =] 210
<)

|

8 ] ] LCM =] 120

E

What is the lowest common multiple of the digit card: Harriet does not use?



